1) ZFLER

HE-HISEETIXIBNRDAOFRE | HHOFE~THINEDAO LT
EZEAEH AOSHIEOEEZRTIEE(EDL AO100ANIIXTHEEAODLEER)

H18 H19 H20 H21 H22 H23 H24 H25 H26 H27
+t E | 2139 223.1 233.4 243.6 248.2 253.1 2715 288.9 304.4 317.0
B | 2193 230.2 2385 2481 263.4 271.9 292.3 307.1 324.3 342.7
E B HE| 2737 283.3 295.0 305.3 315.0 320.1 339.0 360.3 381.1 398.9
EEEKHE| 1937 202.2 209.9 2225 231.3 239.1 260.4 286.1 310.0 326.2
h Be & HET| 2116 218.6 222.0 224.3 226.9 2285 236.1 244.7 257.8 271.0
B Al 2211 230.3 239.1 248.3 255.5 260.9 278.2 295.1 312.2 327.0
a )i 8’| 1532 159.1 163.7 169.3 1725 175.6 185.3 195.3 205.0 212.8
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